216ss-21 Summer Socks

Suggested yarn:
* Pierrot Yarns Chameleon Camera Summer [45% cotton, 40% wool, 15% nylon; 416 yds/380m
per 3.53 0z./100g skein]; color #05 jungle, 1 skein [60g]

Tools/Notions:
+ 2.7mm (approx. US 2) and 3.0mm (US 3) 20cm/7.87" double-pointed knitting needles or sizes

necessary to achieve gauge

Finished measurements:

« foot length 23c¢m/9.06"

+ mouth of sock (circumference) 19¢m/7.48"
+ sock height 17cm/6.69"

Gauge (10cm/4" square):
« stockinette stitch: 28 sts and 38 rows
« pattern stitch: 28 sts and 38 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge.
Alternatively, rework pattern with your own gauge measurements.

Summary

Cast on with long-tail cast-on method and join into the round. Working from base of toes upward, begin working
stockinette stitch and pattern stitch in the round. Place instep stitches on stitch holder and work heel from sole
stitches. After heel is completed, return instep stitches to needles and work pattern stitch in the round. Work cuff
in k1p1 ribbing, then bind off in pattern. Pick up stitches from around cast-on edge at toe area; work tip of toe in
stockinette stitch in the round, decreasing as indicated. Seam tip of toe with Kitchener stitch.

Abbreviations:

BO = bind off

CO =caston

k = knit

k2tog = knit 2 sts together
p = purl

PU = pick up

RE = row(s) even

ssk = slip, slip, knit

st st = stockinette stitch
#-#-# = rows-stitches-times

© 2016 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.
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Sock chart
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1 repeat
11 sts & 14 rows



